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12:111

€i

() (X) X y2 x"2 Xy
1 233.0 266.0 -29.4 -30.3 865.54 92052 892.60 22854 4.46
2 2437 2794 -18.7 -16.9 350.44 286.96 317.12 243.50 0.20
3 251.0 291.1 -114 -5.2 130.42 27.46 59.84 256.57 -5.57
4 256.9 295.6 -5.5 -0.7 30.47 0.55 4.08 261.59 -4.69
5 260.3 297.8 -2.1 15 4.49 2.13 -3.10 264.05 -3.75
6 267.3 302.2 49 5.9 23.81 34.34 28.60 268.96 -1.66
7 2720 305.0 9.6 8.7 91.78 75.00 82.96 272.09 -0.09
8 278.6 305.5 16.2 9.2 261.79 83.91 148.21 272.65 5.95
9 281.2 309.1 18.8 12.8 352.69 162.82 239.63 276.67 453
10 280.2 3117 17.8 154 | 316.13 235.93 273.10 27957 0.63
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1.12
-68.49
290
280
270
260
250
240
230
220
260 270 280 290 300 310 320
YD
I I
| |
8.00
6.00
4.00
2.00
0.00
-2.00
-4.00
-6.00
-8.00




41 2-1

Ho: b=0, Ho: a=0

2
6.
2 2
S, Sy, SXy
R Cc17 C18
Cc17 = H13"2/(F13*G13)
C18 = H13/SQRT(F13*G13)
7.
a,b 1) Ho: b=0 2) Ho: b=0
L
K 2 K13
K15 =K13/8 s2
E15 b t =C15/SQRT(K15/G13)
E16 a t =C16/SQRT(K15*(1/10+C13"2/G13))
to.o5 8
=TINV(0.05,8)
8.
Excel

to.os



TSP

9. TSP TSP4.5

TSP(Time Series Processor)

TSP Excel
4 Durbin-Watson

TSP

Excel

TSP ver 4.5(
TSP/GiveWin
Windows

TSP4.5 )

TSP

GiveWin

2-1

Lotusl1-2-3

TSP
Word

¥¥quantum¥common¥common-quantum¥givewin.reg

OK

GiveWin

10. TSP

TSP GiveWin

freq a;
smpl 1989 1998;
load y;

GiveWin GiveWin

TSP

File New

233.0 243.7 251.0 256.9 260.3 267.3 272.0 278.6 281.2 280.2;

load x;

266.0 279.4 291.1 295.6 297.8 302.2 305.0 305.5 309.1 311.7;

graph x y;
olsq y ¢ x;
end;

File

Save As

TSP file (*.TSP)

Run TSP

Excel

Text

ex2-1la

Modules



11. Excel

TSP Excel TSP Excel
1. Excel4.0
2. 1 2
1 ( )
Excel ex2-1 Sheet2 Sheet2
Excel4.0 ex2-1b.xls
A B C

1 [Date Y X

2 1989 233.0 266.0

3 1990 243.7 279.4

4 1991 251.0 291.1

5 1992 256.9 295.6

6 1993 260.3 297.8

7 1994 267.3 302.2

8 1995 272.0 305.0

9 1996 278.6 305.5

10 1997 281.2 309.1

11 1998 280.2 311.7

ex2-1b.tsp

freq a;

smpl 1989 1998;
read(file="h:ex2-1b.xIs");
graph x y;

olsq y ¢ x;

ste=Q@res/@s;

graph date ste;

end;
12.
Edit — Edit Graph
Regression,Scale Regression
Number 1 2,3,...
Copy Word
x> 82 2-5

TSP
ex2-5.xls ex2-5.tsp



